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xS "1 said: two may be written — 201D 2INW PXY a0 AN

OVERVIEW

VW is the process where the parchment is scored or etched in straight
parallel lines for the entire width of the column to be written. [This enables
that the lines be written straight and neat.] The *»9w1™ Tmon states' that
MIVW is a requirement 101 WH? 1927 when writing 77N scrolls. P
adds that even when writing three words (four words according to the
Xn°ann) of a p1oo, there is a requirement of VIVPW. The XA in 77°3n states:’
17200 do not require Ww, however a Nt does require YWY, > Our MdOIN
will discuss various aspects of MWw.

= PNYY %299 PO M) Mabn Hya

The 2''772 ruled like P> '35 you may write (only) two words without 107w, but not

three words -
= 9759 NINRY NN YT RNINNN YT 2) Hy N)

And even though pr¥® 1 is disputing a Xn>s92, which permits three words
without 1107w, nevertheless the 1"772 follows the ruling of the prx> " XMnX
against the Xin of the Xn»13, for pr¥> " knew that this Xn™ 2 was not
correctly transmitted”.

= 1IN 129249 DWA YUN 12 PNHYY 12929 Y99 19 O 1329 9IINY

And the n''1 says and the X''299 also expounded the same in the name of
31Y9R ', that this ruling requiring v "W, is valid only -

= NN %9 NYWAHTY PIDON 2INIY MDY NPT

When he specifically intends to write the o for the purpose of

interpreting it, like here in this case when 72X '3 quoted the P105 to interpret it in a
nwn7 format; that it is referring to those 2°7°n%n who come from %22 to *" to study 771 -
=AY PYY 2IN9Y 215 KYPNN PYY 21N 9990 195315 NN NYIY DINY YaN

IR0 970" 8D 79%n
Zam
3 5" there 191 XNOYM 17'7 states that it is a *1°0n qwnY 7597, See '01n there; 1500 7"7.
* See nrn 7" who states that we can realize that this X092 is not 7p°¥ since when ™aX responded in
defense of 7n"aX " he said, ‘just because In"2X "7 did not know of s'pr¥® 1 statement is he not a 727 X123?1°
However »aX did not mention anything concerning s"3n°2X " lack of knowledge of this &Xn»72. This proves
that »aR was also aware that this Xn°>12 is not 7p°v. In addition the nv’n v"7n adds that whenever the 175 of
2"1°31,XIN ®N°INn32 is used, it indicates a &n°°12 that was not taught in the major academies; w"*"y.
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However, when someone sends a personal letter to his friend it is
permitted to (quote and) write a 02 in order to write in an articulate

syntax; this can be done even —
- VLYY 2

without scoring the paper/parchment.’

mdoIN now presents a contradiction to this assumption.
= 9YONT NYP YNWYN NDINT RINI P2 MHYITI N

However in the "»52° 7mbn in the last P15 of %% noon,’ there is

somewhat of an indication that it is forbidden to write (part of) a 7109 even in

a personal letter without V1V W -
= NPIDO 11 1P NYN PHIN 2INY 11N 0NN 9INPT

For it says there in the "»5u17° 7m%n: ‘What is the ruling; is one permitted

to write two or three words from a P09 without v w?’
= 9% 92 NOYWIN 2299 AN NHY NI 29 90

And the "»5v17 relates the following: 831 21 sent a letter to =92 N>YwIN '3

%, stating (presumably in the salutation):
= IHINN NIY? IR NN IYNN THIYNY

‘Your beginning may have been paltry; however your end will wax

enormously great’’ -
= AYHTH XD 0TV NN OVY XHN A9 10 NIY ynwun

It seems that he was [not] writing this phrase [for any other purpose] only
as a letter of personal greeting and he had no intent of writing this for a

AT -
- 9705 YaMaY KYY 15991 151 13 99 YY NI

And nevertheless he was scrupulous not to write the ?02 in its proper

sequence. He changed the order of the 2109, so as not to write a proper P09 (of three
words or more) without v w. This would seem to contradict what the n"9 and the X"2"
maintain.

mooIn responds:
= YYD PPamD 1AV NNTIY DV NN DAY 1M

However the "n%21° there relates about many others, who scrambled the
2’109 in their various letters where it appears they were writing it for the

> See “Thinking it over’ # 1

69 P99, in our printed >»7w17, on 3,73 7.

" The actual P109 reads: (1,7 2PX) TRA T3> TNOIARI WA TOWRA M
2
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purpose of a *mw7 -
- NINITA PO ONP MINT XYY WY AN NYY NPy 919 9INPT

For the n%w7 relates that Xapwy =» sent a letter to the exilarch’ who

would arise and go to bed with song -
= 19399 199111 1N 0PI A9IY NNV YWY

Meaning when he would lie down to sleep, and arise in the morning, they
would sing for him. x3pw » disapproved of this conduct and sent him a letter
reprimanding him, paraphrasing a P102: 10

- DY N*an 1297 19) 032 9% 9N npwn X I
‘Do not rejoice O Israel do not be happy amongst the nations’. And the
"MW1 also relates there many other similar instances.'”

mooIN poses a question
= (3,m 97 NDIMIT 72 P92 (3,35 97 mnn) N9 NDIPNA IINT 9NN ON)

And if you will say; that it states in 7729 y2y277 P79 and in the second p=p
of ;19%a% noon -
= VIVPY PN PN PYraNT
That the n1°w19 of 3920 do not require WY ;3 but how can that be?!
= VIVAY PP MAN YIININ YOV 199X NI

For do not even three or four words" require ©ww?! How can those man3
state that 17°5n do not require VW W. There seems to be a contradiction between those
mani and IR M.

N1B0IN answers:
- VYWY NVIY Y3 HY VIVIY P KY PYANT O 12929 N

And the n'"1 says; that when those M3 said that 12°5n do not require
MW it meant that 199920 do not require ¥Y¥ Y on every single line of the

¥ Since the many other instances quoted in the *»9w17> were for the purposes of a 7wn7, then perhaps we
should revise the original assumption; that the case of 11 "™ where he wrote 121 Tn*w&" may be not merely
an 07w NIAK but also a 7. However when it is purely an 2°m1?w 073X and no w17, then all will agree
that it is permitted without 110w (see 7w 7"777). See TR K" w7 for other interpretations.
9 The X723 w1 was the head of the Jewish community in 922. The exilarchs, descended from 7227 77,
functioned virtually as Jewish kings under the Persian rulers in 71707 112 922 and under the Islamic rulers
in the period of the o 1X>.
10 The actual p10o reads: (X, YwT) DMYD 222 DX YR MWD IR
" The ©"wa 793 notes in his gloss that in the "W the text reads: 2" 9% onw3; thereby avoiding the
problem of X3P 7 writing three words from the 109 in order. However, the 109 states o°nys with a 'q"',
while X3P 2 wrote 0°nva with a 'n"2".
"2 That even for a w17 one may write 2°?109 without 17w, provided that the 2’10 are scrambled.
" Depending whether we follow 702K 1 or the Xn*2.
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n*wnd (as opposed to AMIN) -

= pVrY NN PHNN AMI NHYNY NNNX VILIY NYIY Yax
However, he is required to make one line of vyuw on the top of the page
and he may write underneath this line of 1107w many lines of the >w nrw-s
7990n.

= VYWY NVIY D3 DY PIY9N VLYY PRT DN 13939 9IIN)
And furthermore says the n''s that one should not be °sn wuaw? on
each line; not only is it not required, but it should not be done!

- DTN NP INTUIY 9219 NVON 2 PPIYT N2 7992 3IHWITP NYY INTI

As the "mbuns states™ in 197957 M2 pap concerning this type of issue;
‘whoever is exempt from an obligation and nevertheless performs it, he
is called a simpleton.’ This will apply by 1775n as well. Since the X3 says that

1"2°5n do not require VWY (on every line), therefore one who is vVIWN on every line is a
simpleton and not conducting himself in a praiseworthy manner.'®

mooIn will offer proof for his contention that there should be no VW for 17°5n.
- VIVIY PPN PN PI29N DN MNP (3,25 97 ow) NI PN YNPWN 199

And it is also indicated likewise in the previously quoted X773 in N7 N2ON
720 vRIPR P19, that 1IWW should not be done for n"oY 1°7°5n for the X3
there states, that there is no requirement of ¥wwaw for 3°»°on -

= 7509t 101 PUIY PR 1AV P99 NYAY NN 990 NOINT XD 2999
And the X3 challenges this statement from that which we learnt in a
Xn»12; ‘a 70 scroll that decayed or 199°2n that decayed, we are not
permitted to utilize their remains for niy -

- 9P AYYTPY DN AWVITPN 1T PRY Y

Because we may not degrade an object which had a stricter level of
holiness to an object which possesses a more lenient level of holiness’. The
level of holiness possessed by a 70 190 and P2°5n is greater that that possessed by
B,
This concludes the Xn»12 quoted in the X723 in M. The X773 there continues to present

its question:
= VIVY ¥ NN XN PYIY PN NN

'* See the conclusion of this Moo, This is to be understood that four lines of v "W are required; on the

top, on the bottom, and on both sides of the Tny. (See however 7"nX # 193.) See ‘Thinking it over’ # 2.

5 [2"ax"s] ®,7A7.

' See “Thinking it over’ # 3.

' There remained enough from the original 770 or 1°9°2n scroll to use it for a proper [n.

' This is presumably because there are more m121x (Hasem’s names mentioned) in 72°5m n"0 than in Anm.
4
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‘If however, it would be permitted to down grade %P TwTR% 770 TWITPR
it would be permitted to utilize the decayed 1°2°5m n"o for mmm; but 7™

requires ¥WI°; implying that we cannot use the 1°2°5m n"o for mnm since they do
not have v107°w and 71 requires VWY -

= N ONID YN
And the X713 answers this question saying: that this law whether V1070 is
required by 7717t or not is an argument between 2°8in’.

This concludes the entire quote from the X3nx. mooIn will now conclude his proof that
one is not 72’5 n"d VYIWH.
= 995 VLYY MYINI PRT YHYN PLVIIVNI 1I*POY INNA NXIN YN NI

And since the X713 chose not to answer, that this case is discussing a
special situation that the 1°°5M n"o happened to be Puw=wn, they were
scored. That is why the reason they cannot be used for N1 is, not because
of 1w but rather, because 121 17" 7X. The fact that the X721 chose not to

give this answer indicates that it is not customary at all to be vuw? -
- 0117 NYPIT DIVN 199 PPN X9 NN 4990 KXY

neither a n''® nor 1"»°on and that is because he who would do it is called a
20
w7,

Moo makes a proviso to his previous statement that 117w is not done for 1°7°5n
= VIVIY XY N’ 2INIY 1D’ 99YDN PN ON 1171919

However, if the scribe cannot write nicely without v 9w; e.g. the lines will

not be straight, etc.
= YP9IN) ON DT DIVN NVIYY NVIY DI DY LLIYY P9

It is required that there be v w for every line’' in order to fulfill the

dictum based on the ?109; ‘this is my G-d and I will adorn him’. We derive
from this P09 that it is an obligation to beautify the myn.*

mooIn presents a problem with the conclusion that n"o does not require VIVIW:
= NN OIYY 2937 (3,10 91 NDIMDT NNP P93 9INRT N

And that which the X713 says in the first P22 of 779737 noon concerning the

" It would seem that the n" does not accept the ruling of the w1 (see ‘Overview’), or he interprets it
differently. See ‘Thinking it over’ # 4
2 Therefore the X113 did not want to answer 100w 11°POY XA X371 for it is a %23 MW X7 XN,
*! See ‘Thinking it over’ # 5.
2Tt would seem from this that the original 211 for v1"w stems from something other than 11K "% 7.
5
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23 ¢

P09 in the 7773 = ‘words of peace and fruth’, that this »oo —

= AN DY NN VIVIY NIYINY MY
Teaches us that 1nox N7 requires v like the ‘truthfulness’ of the
717N, The 79°an refers to itself as n»X 131 127 that it is comparable to the niaX of 71N, Just

as the 77N requires VWY so too does the 77°a1 require VIVW. This is in contradiction to
what the n"9 said previously that (1°5n) n"o does not require VVY.

Mo0IN answers:
= I 199N NIN VIVIVY P RY RNT NN 990 13991 INTT DN 12929 N

The n''1 says that 7710 22 7n°nX does not refer to a n''s, for a n"o does not
require ¥ W as mentioned previously in this msoIn, rather 770 5w 70K

refers to a 717117, which does require VW -
- Zosny mabn 1N oV 12 WY oY 9Y 1NN SY NN 1Y 99)

And the X713 refers to a 712 as 7170 5w 09K on account that in a amm

there is the unity of the heavenly kingdom. The nmm» contains ¥aw nws which
states: 71X 711798 7, this 2w MO T is considered 770 YW NMK.
- HNIIN 19929 YD 19

And the n''1 also explains the phrase 710 5w 70K in the same manner,

mooin will bring a support to this contention that 7730 2w 70 X refers to M, not n'"o.
= D902 OV Y9993 NN 99021 INT NI 1)

And this is the apparent interpretation, that it refers to 7717, not n"o, for if
770 5w anonx would be referring to a n''o as v''w1 explains it there in 'o»

P"'D 12°an, there would be a difficulty —
= 13505 NN NINNT 172 NOWI NINDYIN (5,05 91 NDIMIT 72 D993 DNN 19°D0IT NN

That which we invalidate in the second P22 of %% noon, if the 71923 was
written on X7np>7, or it was written not with proper ink.”® In these two
instances the 772°a1 is 2105. The X3 derives this 7109 through a mw 7701
'|masns masns' —

- p1a 74900 DY 259 2N (15 nv) NN
Since it is written in 77 X°21: ‘and I am writing on the 920 with ink; and
in the 7773 it states INOX 213, so we derive just as the 72°N03 in 717> was 1°72 1907 Y,

B5 pAnox.

** This phrase speaks volumes!

» xn27 is the hide of an animal that was prepared with salt and flour only, but was lacking the final

process of utilizing gall nuts (called Xxoy).

*® Ink that is not colored black is 2108.

*7 290 refers to hide that was properly prepared (as opposed to Xn2°7) and is either 27 or 91, not 91OV
6
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so too must the 7931 be written 172 79077 %¥. This excludes Xn9°7 and 1772 X7w. This
concludes the quote from the X713 in 7973,

mooIN continues with his challenge to *"wn. If 770 S nan R refers to the n"o why is it
necessary to derive the "7 that 1°72 X221 RIn9>7 is 2109 by 119°3 using a "1 from mn7»
= NN DY NINNND 295> KT ININ)

Why do we not derive it from 57730 52 709K of a n"o where we know that
172 ROWY RINDT is 7109?!
- AN M5 Povorvat 72989 52N 12 ONT RN 29290 NI N

If however the term 770 5w 7n°nXk refers to a 711 then it is understood
why the X3 chose to derive the 7109 of 172 X5 XnN5°7 using a w" from
N7, as opposed to nMN; even though by mnm if it is written X721 XIn9*72
73, it is also 909; for if this were so that we derive 793 from 731
concerning the parchment on which it is to be written (thereby being 50
X1n5°7) then I would also require that the 79° be written on 91919217 just

as a oM requires DW0017. We do not permit 010010217 for a 79°w; therefore we
must derive the 9109 of Xn9>7 using the w"1x from . According to "1, however,
that 770 5w nn°nR is a 0o, we could derive the 9109 of X097 from n"o since n'"o does not
require D1DIT but rather 7%p, just like a 77°3. Therefore the "3 is superfluous.

mooIn presents an additional question:
= 2390 19 ONX NIN 2199 ANV 1PN ('x navn ,x pas) ©299YD NIDNA 9INRT N

And that which is said in 2°9210 n>o% concerning a n"0 it is not permitted

to write a n"0 unless he scored the parchment -
- NP0 NYINNDN NIPNRY NYIIN

And a ‘curtain’ (segment) of parchment which is not scored is unfit for
writing a n"o. This is in direct contradiction to what the n" taught that a n"o does not
require MWW, and in fact Y1V Y should not be done.

mooIn responds; that in 2’7910 NJo»n where he requires VW -
= P78 NVNTM NIYNIDN DIVIVIVY 7793

That means only four 252w9w; on top and on bottom and on both sides
of the parchment; that is where V10 is required; not for every line.

*® The entire hide of an animal is called . It can be divided into two layers. The layer that is closest to the
flesh of the animal is called 019010217 (as opposed to the layer closest to the hair which is called 7%p). [In
the text of our X,2% mna Mna it reads the exact opposite, but in the ¥"ww ,0"am1 it is defined as noted
above.]
¥ The 712°n> 712°N2 W' teaches us that it must be a 190, from which we derive two lessons; it must be q%p or
573, not 0107 and it cannot be XNo*7.
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m»ooIn concludes:

PO
And this answer is difficult to accept. The simple reading of the text in 2910 noon
would indicate that V107w is required on every line of the n"o. This contradicts the
opinion of the n"A.

SUMMARY

The 10%n is that three words or more of 7"in require VWY on top (on
bottom, and both sides?SO).

MY is not required for a personal letter unless it is written for a AwA7.
Scrambled 2?05 that do not contain three words in the proper order are
permitted without 117w even when written 7w7>.

n"oy 12°on do not require VWY on each line; only on top, on bottom and
both sides of the column being written. It is forbidden (!) to have v107°w on
each line for n"01 1250 (one who does so is called a v1°777); unless the 7910
requires it for neatness.

TN requires VWY on each line (2"1%7?).

727 12900 ,n"'0 are written on 2°13 or 17 not DIV, TN is written only
on DIVDIDIT.

MY is required for a 72°A since it says in NARY 212w 2727 ,INOR NPO; it is
required that it be 77N 5w 1nnRd . According to °"wA this refers to a n"o;
according to MooIN it refers to AN,

XIno°7 is 7109 for a 12°3. We derive this with a 72°n2 72°n2 W' from 707,
[This w"r also teaches us that D107 is 700 for a 72°3 despite the fact
that 719°3 is compared to 71 by XY 219w *27.]

From 0°7910 '07 it seems that N0 require YWY for each line.

THINKING IT OVER
1. Why should there be difference concerning ©v17°w whether it is written for
a w7 or for W Ming?’!

2. How do we explain that we do not make v by 12°5m n'"o on every

% See 7702 77 7" W 2"
3! See footnote # 5 and 71"nX # 97.
8
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. 2
line, but we are to make a VY07°¥ on top etc.?’

3. How can we reconcile this statement of ©01°777 X231 1LY D270 NVOT 5533
with the expression 71912 oy ®12n M ?**

4. How did m»oin derive from the Xn>12 concerning 172w 1°2°5m n''o that we
are not 72°5mM n"o vuwn? Perhaps we are not vuwn» only 12°5n, however
n"o we are vvwn. The Xnx was perhaps discussing only the 17°5n aspect!

5. Concerning the question of using 192w 12°0m n"o for a1m™,*® why did not
the X173 say that the 1910 was vv wn in order to write neatly?’’

32 See footnote # 14 and 171"nx # 123.
3 See footnote # 16.
** See My MR 7"O0.
33 See footnote # 19.
3 See footnote # 21.
7 See n"ma.
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